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For Consumer 1 and his initial endowment (10 of X
and 10 of Y) his utility is equal to 100. To draw his
indifference curve going through the initial
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endowment we need to find other bundles of X and Y
that give the utility of 100. For example, X=5and Y =
20, or X=20and Y = 5. Depicted by black curve.

For Consumer 2 and his initial endowment (20 of X
and 20 of Y) his utility is equal to 400. To draw his
indifference curve going through the initial
endowment we need to find other bundles of X and Y
that give the utility of 400. For example, X=6and Y =
30, or X=10 and Y = 25 (as an approximation).
Depicted by purple curve.

The red area between the curves represents the potential

improvement for both consumers

To find the Contract Curve the following set of equations needs

to be solved:
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